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SECTION-A
(GENERAL AWARENESS)

1.

The Attorney General of India is appointed
by the:

(@) Prime Minister
(c) President of India

(b) Law Minister
(d) Home Minister

Which of the following can not act as a
bleaching agent?

(a) Nitrous oxide
(c) Chlorine

(b) Sulpher dioxide

(d) Hydrogen Peroxide
Which table in an operating system contains
information about all the open files?

(a) open- file table
(c) open table

(b) open-seek table
(d) open location table

The toxic metal associated with the

Minamata episode is:
(@) cadmium
(c) mercury

(b) lead
(d) arsenic

The release of which of the following into
ponds and wells helps in controlling the
mosquitoes?
(@) crab
(c) Snail

(b) dogfish

(d) Gambusia Fish

In earth atmosphere which of the following
continuously decreases with height?

(@) Wind velocity (b) Temperature

(c) Pressure (d) Humidity

Which state in India has the largest
coastline?

(@) Andhra Pradesh (b) Gujrat

(c) Tamil Nadu (d) Maharashtra

The crop Development Programme of the
Government of India covers which of the
following groups of commercial crops?

(@) Tea, Cotton and Rubber
(b) Jute, Tea and Coffee

(c) Cotton, Jute and Sugarcane
(d) Tea, Coffee and Spices

(2]
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10.

11.

12.

13.

14.

15.

Under the Constitution of India who are the
ultimate sovereign?

(@) President of India

(b) Indian People

(c) Prime Minister of India

(d) All elected leaders of India

Which of the following does not belong to
physical environment?

(a) Lithosphere
(c) Hemisphere

(b) Atmosphere
(d) Hydrosphere

An Example of a solution of liquid in solid is

(@) Jelly
(c) Foam

(b) Rubber
(d) Smoke

Which one of the following is not correctly
matched?

(@) Iron ore-kudremukh
(b) Copper- Khetri

(c) Manganese- Koraput
(d) Coal- Singreni

Which was the instrument that was played
by Ustad Bismillah Khan?

(b) Shehnai
(d) Flute

(a) Sitar
(c) Santoor

Loss of Water in plants in the form of liquid
is known as :

(@) Osmosis
(c) Transpiration

(b) Imbibition
(d) Guttation

Which memory is both static and non-
volatile?

(a) RAM
(c) ROM

(b) CACHE
(d) BIOS

10.

11.

12.

13.

14.

15.

(3]
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(a) RAM
() ROM

(b) CACHE
(d) BIOS



SECTION-B
(ENGLISH)

In the following questions choose the word which

is the exact OPPOSITE of the given words-

16. ENORMOUS

(@) Soft (b) Average
(c) Tiny (d) Weak
17. ARTIFICIAL
(@) Red (b) Natural
(c) Truthful (d) Solid
18. MORTAL
(a) Divine (b) Immortal
(c) Spiritual (d) Eternal
19. RARELY
(a) Hardly (b) Definately
(c) Frequently (d) Periodically

Pick out the word closest in meaning to the
given word:

20. OMNIPRESENT

(a) Permanent (b) Ever- Present

(c) Temporary (d) None of Above
21. Align

(a) Disunited (b) Divergent

(c) Adjust (d) Subserviant

Choose the correct alternative which can be
substituted for the below given word/sentence.

22. The person who knows everthing
(@) Omnipresent (b) Omnipotent
(c) Omniscient (b) Oblivious

23. A person involving in an activity for
pleasure and not money is called as :
(a) Amateur (b) Follower
(c) Altruist (d) Antiquarian

24. A large enclosure for keeping birds’ is also

called as .
(@) Zoo (b) Aquarium
(c) Aviary (d) Homicide

Supply suitable preposition/ Phrasal verb in the
blank of each item

(4]

25.

26.

27.

29.

30.

Universities in Germany and Denmark will

have an input the project.
(a) for (b) into

(c) about (d) at

He gave me a leg when | was
completely new to the business.
(@) up (b) down
(c) off (d) for

You should have nothing to do with those
criminals; they all have violent attitudes

and long records. They are men the
same Kidney.

(@) with (b) in

(c) of (d) on

Directions (for the 06 items that follow):

In the following sentences, some parts of the
sentences have been jumbled up. You are
required to rearrange these parts which are
labelled P, Q, R, S to produce the correct
sentence. Choose the proper sequence and mark
in your answer sheet accordingly.

28.

she and neither have | the assignment yet

P Q R
hasn’t finised

S
The correct sequence should be
(@) QRSP (b) QPSR
(c) PQSR (d) PSRQ
You’ll
Know how to do it have to

P Q
because she does not help her

R S

The correct sequence should be
(@) QSPR (b) SRPQ
(c) QPRS (d) QSRP
Would you
Like to come on Saturday

P Q
at the International House to the concert

R S

The correct sequence should be
(@) PQRS (b) PSQR
(c) RSPQ (d) PQSR



SECTION-C
(PHYSICS)

31. The ratio of the angular speed of minutes 31. U% B & e @ s 9 8¢ @ g3 @ DIV I H

hand and hour hand of a watch is: SR B |
(@) 6:1 (b) 12:1 (a) 6:1 (b) 12:1
(c) 1:6 (d) 1:12 (c) 1:6 (d) 1:12
32. Astone is tied at one end of a 5 m long 32. 5 Hicx o ©X) B T RR R TP TeR TgEY 99
string and whirled in a vertical circle. The ' .
minimum speed required to just cross the g;ﬁg; ngqﬁm% %:blrfﬁa IR fHar o i
topmost position is g 2
(a) 5 ms— (b) 7 ms @5mst (b) 7 ms
(c) 57 ms ! (d) 75 ms™ (c) 57 ms ! (d) 75 ms*

33. When a belt moves horizontally at a
constant speed of 1.5 ms™, gravel is falling

onitat5kgs™. Then the extra power

33. 94 UF Jec 1.5 ms™ & te wHH 9 ¥ dfaw # afa

PR NG 2| 99 99 W 5 kgs™! A R W Fde R @ B
T dec B FAM @ fold IMawe AfaRed  wfed

needed to drive the belt is 2|
() 11.25 W (b) 37.5W (a) 11.25 W (b) 37.5 W
(©)75W (d)0.75W (c)7.5W (d) 0.75 W

34. A heat engine absorbs 360J of energy by 34 TH %O o UG dsh # 360 SHHI BT TN Gl
heat and performs 25J of work in each cycle. 3 qor 25J o1 URe T el & | UG G § o

The energy expelled to the cold reservoir in 2% B & T FHuit enft

each cycle is

(a) 360J (b) 385J (a) 360J (b) 385J
(c) 335] (d) 14.4] (c) 335] (d) 14.4]

35. The frequencies of X rays, Gamma rays and

visible light waves rays are a, b and ¢ 3. X T T ¥ HPRY X i

respectively, then gl 1 - @, b FrC ¥

(@a>b>c (b)a>b b<c @a>b>c (b)a>b,b<c

(a<bb>c (da<bb<c (ca<bb>c (da<b,b<c
36.An equiconvex (biconvex) lens has focus 36. 7% G ITIel o (SHATTeT) @ Bld o f |

length £ It is cut into three parts as shown in the S! foRTgar i arT 7 feaior foar sar & o i
figure. What is the focal length of cut part I ? T | IR e g ?

(a) (b) 2f @)

() 2f
f
© 3f @3 © 3f ©%

N [~

(5]



37.

38.

39.

40.

41.

A cell has terminal voltage 2V in open
circuit and internal resistance of the given
cellis2Q. If 4A of current is flowing
between points P and Q in the circuit and
then the potential difference between P and

Qis
2V, 20
- > || A /\ /\ /\ /\ "
4A |l vo
(a) 30V (b) 26V
(©) 22V (d) 24V

A proton and an alpha particle both are
accelerated through the same potential
difference. The ratio of corresponding de-
Brogile wavelength is:

(b) ¥2

(a) 2
1
(d) 2

(c) 22

Suppose you drive to Delhi (200 km away) at
400 km/hr and return at 200 km/hr. what is
yours average speed for the entire trip?

(@) Zero

(b) 300 km/hr

(c) Less than 300 km/hr
(d) More than 300 km/hr

A system undergoes a reversible adiabatic
process. The entropy of the system

(@) increases (b) decreases
(c) remains constant
(d) may increase or may decrease

For the combination of gates shown here,
which of the following truth table part is not
true

A

C

B—
(a) A=1, B=1, C=1
(b) A=1, B=0, C=1
(c) A=0, B=1, C=1
(d) A=0, B=0, C=0

37.

38.

39.

40.

41.

(6]

gol IR ¥ & el @1 RRE @ dreedr 2V 7 @ fRy
U HA FT ARP URRY 2Q 7| AT AA B GRT
figen Pdur Q & #ew uRuy # 98 ¥ ¥ fawgeif P
T Q T A fIMaR &
2V, 20
Pe 2 I' ‘/\/ \/ \/ \/ \_.(
an |l Yo ?
(a) 30V (b) 26V
() 22V (d) 24V
U® WIS T4 UE fehl $Y GFI1 Bl FH fa9aR g
@R fhar ST & | S9! Fd S el axaTaeat b
3T B
(a) 2 (b) V2
1
22 d —
(© 242 O
I8 Y fob amuapr 200f6H X faeell 1 400 AT/ wer
ST 8 T 200 A /T W AleT &1 AUD 39 IR
@I 3 Tt T BRfi?
(a) Y=
(b) 300 km/hr
(c) 300 km/hr & &
(d) 300 km/hr & 318
T PFE F sFEaT PR & TR ¥
e &Y vt
(a) s (b) =
(C) 3R & & (d) 33 I1 g A ©
1 oy U 9@ gRf @ WaoW @ forg e aer IRoh
BT BIF |1 AT G o
A
C
B—

(a) A=1, B=1, C=1
(b) A=1, B=0, C=1
(c) A=0, B=1, C=1
(d) A=0, B=0, C=0



42.

43.

44,

45.

46.

47.

A narrow white light beam fails to converge
at a point after going through a converging
lens. This defect is known as

(a) Polarization (b) Spherical aberration
(c) Chromatic aberration (d) Diffraction

Which of the following material has lowest
resistivity?
(a) Constantan
(c) Manganin

(b) Silver
(d) Copper

An incompressible non viscous fluid flows
steadily through a cylindrical pipe which
has radius 2R at point A and radius R at
point B farther along the flow direction. If
the velocity of the fluid at point Ais 'V, its
velocity at the point B will be:

(@) 2V (b) V

(c) V/I2 (d) 4v

In a room where the temperature is 30°C a
body cools from 61°C to 59°C in 4 minutes.

The time taken by the body to cool from
51°C to 49°C will be about

(@) 4 minutes (b) 6 minutes

(c) 5 minutes (d) 8 minutes
Magnitude of binding energy of satellite is E
and kinetic energy is K. The ratio E/K is
(@1 (b) 1/2

(c)2/1 (d) 1/4

Figure shows the total acceleration a=32
m/s? of a moving particle moving clockwise
in a circle of radius R=1m. What are the
centripetal acceleration and speed v of the
particle at given instant?

-——

(a) 16 m/s?, 16 m/s

(b) 16 m/s?, 4 m/s

(c) 16v3 m/s?, 4+/3 m/s?
(d) 163 m/s?, 4 m/s

(7]

42,

43.

44,

45,

46.

47.

U T YT FHI0] R0 U SRR ofF | o &
T UE & g W PRI 89 # ot Bl & 7
<Y {7 FEar &

(a) gau (b) i fauer
(c) iz fager (d) faad
et # & T A IfcRierdar are garet 8

(a) PR (b) =iy

(c) A=t (d) ar

U TSy 3TN 59 V% JoIdR gy H | Fad w9
W 98 W & | 390 9819 @l e & afaw fig A W
ga @ 9TV 2| ffg A W UEy @ B 2R g q
%9 yare & foen # Xy fdg B W urgy 9 B R ©
ar fdg B W wq @7 97 @ 81 7

(@) 2V (b) V
() V/2 (d) 4V

Ue HHX a1 a9 30°C & 30 Ud a%g &l 61°C ¥
59°C @ ovel 8 H ol &9y 4 e B | a%g &l
51°C ¥ 49°C T SvSl 8 # oIl §HI T4 81T

(2) 4 fire (b) 6 firfe
(€) 5 fire (d) 8 frre

AT Bl 989 Fofl B gRAT E 2 1 SHa! e
St a1 A9 K g a1 agua E/K g

(@)1 (b) 1/2
() 2/1 (d) ¥

o % Brear R=1m & 91 4 <leomad g gY &Vl &
Bl @RI a=32 M/s2E T FU F AWM= TR T
U B A v G TG 0 R R e ?

(a) 16 m/s?, 16 m/s
(b) 16 m/s?, 4 m/s

(¢) 16v/3 m/s?, 4+/3 m/s?
(d) 16v/3 m/s?, 4 m/s



48. A battery of constant voltage is available.

49.

50.

How to adjust a system of three identical
capacitors to get high electrostatic energy
with the given battery

(@) Two parallel and one is series
(b) Three in series
(c) Three in parallel

(d) Whatever may be combination, it will
always have same electrostatic energy

Five resistance are connected as shown in
the figure. The equivalent resistance
between points A & C is

(a) 21.20

(b) 300

(©) 440 (d) 23—09

Which of the statement is incorrect about
the simple microscope?

(@) Magnification of microscope is inversely
proportional to the least distance of distinct
vision.

(b) A convex lens of microscope with shorter
focal length yields higher magnification.

(c) Biology students use to see the slides

(d) It is not used for magnification of an object
at far away from the observer.

(8]
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(a) 21.20
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SECTION-D
(CHEMISTRY)

51.

52.

53.

54,

55.

56.

In OF2, oxygen has hybridization of

(a) sp (b) sp?
(c) sp® (d) None of the options

Amongst NO3, AsO’;, CO %, CIOj
SO % and BO®, the non planar species
are

(a) CO%, SO% and BO®;

(b) AsO%;, CO% and SO%;

(c) NO3 , CO% and BO%;

(d) SO%, CIO3 and BO%;

The lewis acidity of BFs is less than BCls
even though fluorine is more
electronegative than chlorine. It is due to

(a) Stronger 2p (B)-2p(F) o - bonding
(b) Stronger 2p (B)-2p(F)m- bonding
(c) Stronger 1p (B)-3p(C1) o - bonding
(d) Stronger 2p (B)-3p(C1)m- bonding

Friedel — Craft reaction is not related
with:

(@) Sulphonation
(c) Acylation

(b) Nitration
(d) Reduction

The Molecule C30:2 has a linear structure.
This compound has

(@) 4 o and 4 7 bonds
(b) 3 o and 2  bonds
(¢) 2 ¢ and 3  bonds
(d) 30 and 4  bonds

Photoelectric effect is maximum in
(@) Cs (b) Na
(oK (d) Li

[9]

51. OF, # 3TardIoTeT &l 0T &

(@ sp
(c) sp®

(b) sp?
(d) el & & IS =T8T

- 3- 2- - 2—
52.NO3, AsO%, CO %, CIO; , SO % diR

53.

BO® # ¥ sraa wiieiiet &
2— 2— 3-
(a) CO%, SO @ BO7,
33— 2— 2—
(b) AsO%,, CO% o SO
— 2— 3—
(c) NOj; , CO? o BO?,
2- - 3-
(d) SO%, CIO; wor BO?,

BF3 @ qg9 sr<iaar BCla @ & & afd

TARH @ f9gd FOM F@ARA 9 S0F © | G
PRI &

(@) ot 2p (B)-2p(F) o - s+
(b) wsa 2p (B)-2p(F)7- a4

(c) vt 1p (B)-3p(C1) o -s&+
(d) waet 2p (B)-3p(CL)m- a7a7

54. WRd-Fve JfAfF ARR@a &
wFafla 78 §
(a) Tohifaianior (b) ATSEIRIOT
(c) TfAferaror (d) 3gaaeT

55. 3] C3O2a! FXa-T e & | 39 e o

(@) 4 o T4 7 M
(b) 36 AT 2 1T 3T
(c) 2 0 T 3 7 JTEH
(d) 306 TaT4 1T 3T

56. TR fIed IR Waifia qe
(@) Cs (b) Na
© K (d) Li



57. The difference of water molecules in
gypsum and plaster of paris is

5
@ >

- (6) 2

© > @13

58. Which of the following has been used in
the manufacture of non-inflammable
photographic films?

(@) Cellulose nitrate

(b) Cellulose xanthate
(c) Cellulose perchlorate
(d) Cellulose acetate

59. Which will form geometrical isomers?
Cl

@ cl

(b) CH3CH=NOH
ol

(d) All of these

60. The Structure of XeF2and NH3
respectively are

(@) bent, tetrahedral
(b) linear, pyramidal
(c) linear, see saw
(d) bent, see saw
61. For the reaction

2502+ O2 (excess) — 2S0s the order of
reaction with respect to O2 is

(@) zero (b) one
(c) two (d) three
62. The IUPAC name of compound is

/\/\/ CHO

(@) 2- methyl-6-oxohex-3-enamide
(b) 6- Keto-2- methyl hexamide
(c) 2- carbamoylhexanal

(d) 2- carbamoylhex-3-enal

[10]

57. oM T wRex 3i% URE # Il # 310l &7 =R
gl

5
@ - (b) 2

1
© 5 17

58. saddAeiier BreIhe heaT & fAstor
# Aafaf@a & & e gt Far
TATR?

(a) HeolelleT AT3eC
(b) AocTeilet 9
(c) Aol RFeRE

(d) Aot THiee
59 i { SATANT ITgWHTF T2

~Cl

(a) ~~cl

(b) CH3CH=NOH
(c)"» Tk

(d) All of these

60. XeF2 3 NH3 i TIa=IT FA: &

() dfed, ITWHeIDI

(b) XRga, fRifafs

(c) XRew, el (¥ )

(d) dfod, el (< &)

61. afafsrar 2SOz + O2 (excess) — 2503 @ fory

0, & g<¥ & afifshar A @ife 2
(@) g3 (b) T®
(c) & (d) o

62. IifTF FT ILPACATH &

L
/\/\/ CHO

(@) 2- AR -6-3HTFHLFH-3-5ATHISS
(b) 6- hYeY-2- ATAT ZFATHTSS

(c) 2- FrefATeRFITT

(d) 2-refAITeeEd -3-3el



63.

64.

65.

Synthetic polymer that resembles natural
rubber is

(@) Chloroprene
(c) Neoprene

(b) isoprene
(d) glyptal

Which defect in any crystal lowers its
density?

(@) F Centre (b) Frenkel

(c) Schottky (d) Interstitial

The equilibrium constants of the reaction
SO2(g) + ;0= SOs (g) and 2502(g)+Oz(g)

= 2503 (g) are K1 and Kz respectively.
The relationship between K1 and K2 will
be:-

(@) K1 =K>
(€) K2 =Ko

(b) K3 =Ki

@) Kz =K,

66. 8.50gm of NHs is present in 250 ml

67.

68.

volume. Its active mass is
(@) 1.0 ML (b) 0.5 ML*
(c) 1.5 ML (d) 2.0 ML

Pair is known as
COOH

H———0H

| COOH
 HO——H

OH——F—H H———O0H

CH, CH,

(a) erythro stereisomers
(b) threo sterecisomers
(c) structure isomers

(d) geometrical isomers

Which of the following statements is not
true

(@) Silk is a protein

(b) Polyurethane foams are used for making
pillows

(c) HDPE is prepapred by Ziegler Natta
Polymerization

(d) Viscose fabric is not made from
cellulose

[11]

63. 7T FHHM AR W WHfas WR A9 fews < @

7
(a) FeRseT (b) 3mEAEeT
(c) sframsie (d) Femgeerer
64. fo=ft fobeed ® BT I S T9@ I FH IR 2
(a) F d= (b) Sher
(c) wea (d) sicRraTeh
65. fifar SOz (g) +302(g) = SOs(g) 3
2502(g) + O2 (g) = 2503 (g) & IIG A=
Reria v K1 99 Ko® KRk Ko # aw
I
(a) K1 =K (b) K3 = Ki
©K? =Kz (d) Kz = /Ky
66. 250 ml # 8.50gm I MIfaT SuRerd 2 |
SIPT AfHYT SN B
(@ 1.0MLY  (b) 0.5 ML?
©15MLT  (d)2.0ML?
67. ¥ FTAN ©
COOH | COOH
H—}—OH | HO——H
OH——1—H H—T1—O0H
CH, CH,

68.

(a) ofkyr Rfaad FaTaAY
(b) danfafaw gaATTA
(C) T FHATSAT

(d) SafadT gaTa

I R T e ¥ ¥ e A A T Y
(a) Riew Ta Wifes B
(b) UIeRRAT B BT STANT Ay T H B B |

(c) HDPE &I f3rTeR Feer relmRigored faf o
ST 77T R |

(d) e wise & FgaAN 4 T8l a1 9l & |




69. Compound C'I\C ) C/CH-* has the 69. Iif= CI\C ) C/C”‘ F U sgae &
H / \C:[ {5 H 4 \C:Hs
following prefix
(a) E (b) Z (@ E (b) Z
(c) trans (d) Anti (c) T (d) Ty
70. The structure of carboxylate ion is best 70. FEffFEde 3T N TG FT TGH N0
represented as: fawqor §-
O o) o)
/ o /° 7
(@ — ") —L (8) —C () —C
O o No o
_ _ _ o)
0 0 Ve
/ @ / () —C,
(c) —C (d)—C, —C ‘°~.O
o) 0 o)
SECTION-E
(MATHEMATICS)
71. If (5)**P=5x 25 x 125, what is the value of | 71.3f% (5)2"*=5x 25 x 125, @ @@ (a+b)>= ?
(atb)’= 7 (a) 25 (b) 28
(@) 25 (b) 28 (©) 36 () 44
(c) 36 (d) 44

72. 1f 3X¥y=27, 3 =243, what is the value of 72.39f 3XY=27,3XY =243, @ qax= ?
x= ?

(a1 (b) 2
(@)1 (b) 2
03 @ 4 (c)3 (d)4
73. 1f 6™ = 46656, what is the value of 6™2? 73. I 6M= 46656, 8 99 6M2= ?
() 7776 (b)7782 (a) 7776 (b)7782
(c) 1296 (d) 1290 (c) 1296 (d) 1290

74. In aschool 70% students like oranges and

© 2o . . o
64% like apples. If x % like both oranges 74. 03 el 709 B WM U $¥ & 7 64%

and apples, then W e E 89 A X Yo BT ST (HANT 9 %)
(c) 34 < x < 64 (d) x <70 (@) x = 34 (b) x < 64
(c)34<x<64 (d)x <70

[12]



75. A normal is drawn at a point (x1, y1) of the
parabola y>= 16x and this normal makes equal
angle with both x and y axes. Then point (x1,

y1) is
(a) (4, -4)
(c) (4,-8)

(b) (2,-8)
(d) (1.-4)

76. Two vectors A=3 and B=4 are

perpendicular. Resultant of both these
vectors is R. the projection of these vector
B on the vector R is

(@) 3.2 (b) 2.4

(c)5 (d) 1.25

A vector R is given by R=4 X (§ X?)
Which of the following is true?

@) Ris parallel to A

(b) R must be parallel to B

(c) R must be perpendicular to B

(d) None of the options

Solutions of the differential equation

dy
dx

77.

78.
=2e*Y +x%2eVis

3

X
(a) e¥'=2¢e* 5 ¢

3
(b) &¥=2e™ +X? +C

3
X
(c) &= 2¢* 5 tc
-3
X
(d) e = 2¢* +T +cC

79. Taking axes of hyperbola as coordinate

axes; find its equation when the distance
between the foci is 16 and eccentricity is

V2
(a) x2—y?=8
(c) x2—y?=32

(b) x> —y?*=16
(d) x? — y?> =64

80. For the circle x? + y?=81, what is the equation

of chord whose mid point is (-2,3)
(@) 2x -3y -13=0 (b) 2x +3y +13=0
(c) 2x -3y +13=0 (d) 3x -2y +13=0

(13]

75. WA Y27 16X & I (X1, Y1) W U& e
i1 O & AT ANerd Ml el X demy @ A
R IO G601 & @1 a5 (X1, y1) &

(@) (4,-4) (b) (2,-8)
(c) (4.-8) (d) (1,-4)

76. < 4w A=3 da1 B=4 R owad 2| 9 a1
wfee o1 uRvmm R 2| Afew B @1 Afey Wy

B |

(a) 3.2 (b) 2.4
(c)5 (d) 1.25

77. WART R gm RaT siam 8 R =4 X
(BXC)d e # & sl oo o 8 ?

(a) 9w R 9w A & F9I=R &

(b) ¥fe R 9w B & WI<R & &
(c) 9fesr R 9% B & @wad & e
(d) 3 9 B1g ey el

78. WWW%zZeX'V +x2eY B Ed B

3

X
(a) e¥'=2¢* 5 e

3

(b) & = 26 +X?

3
X
(c) &¥=2¢* 5 t¢

+cC

-3
(d) e¥=2¢* +XT +C

79. JfiRaey & el B A< 31T AR ifRaerd &
TG T BT 99 (6 AT 31 G 16 8 TN Iedbadll
V23§
(a) x* —y*=8
(c) x* —y?>=32

(b) X2 — y2=16
(d) x* —y*=64

80. I X2 +y?=81 &I SN AT HT FHIG T BT
forrar weg fawg (-2,3)2
(@) 2x -3y -13=0
(c) 2x -3y +13=0

(b) 2x +3y +13=0
(d) 3x -2y +13 =0



81.

82.

83

84.

85.

86.

If (1+iv/3)12= a +ib, here a and b are real,
then the value of b is?

@) 0 (b) 1
(©)(v3 )* (d) 2)*

The condition so that the line Ix + my +
n = 0 may touch the parabola y? = 8x
(a) m?=8In (b) m*=2In

(c) 8m?=in (d) 2m?=In

1 £(8) = 2(sec? 8 + cos? 0), then its value
always
(@) f(6) <2
(b) f(6) =2
c)4>f(0O)>2
d)f () =4

If cot x —tan x=2, then generalized solution
is (here n is integer)

(@) x = 2nm + (b) x = nm + =
nm s nm T
(C)X—7+§ (d)x—T+E

What is the slope of the tangent to the
curve y =sin™(sin’x)atx =0 ?

(@0 (b) 1
(c)2 (d) none of the above

A plane is flying horizontally at a height of
1 km from ground. Angle of elevation of
the plane at a certain instant is 60°. After
20 seconds angle of elevation is found 30°.

The speed of plane is

100 200
(a)ﬁm/s (b) ﬁm/s

(c) 100v/3m/s (d) 200+/3m/s

(14]

81.3f% (1+iv/3)12=a +ib € a 71 b Irafi® ?
A barAE R

@0 (b) 1

© (3 )" (d) ()

82. T ud g1 BN W @l Ix + my + n =
0 AT Y2 = 8X Bl TR IR T
(a) m?=8In (b) m?=2in
(c) 8m?=in (d) 2m?=In

83. I f(8) = 2(sec? O + cos? @), g 11 TqH A
kL]
(@ f(O) <2
(b) f(0) =2
(c)4>f(6) >2
d) =4

84. IfX cot x —tan x=2 & @ @U® & & (T&F N TH
it 3)

(@) x = 2nm + = (b) x = nm + =

nwoow nmw 0w
(C)X—7+E (d)X—T+E

85. X =0WX @& y=sin(sin’ x)& waeff #r

YaUTdT 4T 87
(@) 0 (b) 1
(c) 2 (d) 3ugeRT H & FIE AL

86. T foue TH & 1 km S W &afdw foen § S
W 2| T & W a9 b1 ST BT 60° B 20

HHUS 915 DIV 30° AT T a1 f4HE & a1t @
100 200

(a)ﬁm/s (b) Em/s

(c) 100v/3m/s (d) 200v/3m/s



87.

88.

89.

90.

AB is a vertical pole with B at the ground
level and A at the top. A man finds that
the angle of elevation of the point A from
a certain point C on the ground is 60°. He
moves away from the pole along the line
BC to a point D such that CD = 7m. From
D, the angle of elevation of the point A is
45°. Then the height of the pole is:

_ T3

@EQI 1)m
@JQI—M

Pl

Out of 100 bicycles, ten bicycles have
puncture. What is the probability of not
having any punctunred bicycle in a
sample of 5 bicycles?

(2) = (b) 2
©% @ {=}

How many different words can be
formed by jumbling the letters in the
word MISSISSIPPI in which no two S
are adjacent?

(@) 8.°C,. 'C,
(b) 6.7. °C,
(c) 6.8. 'C,
d) 6. °C, °C,

(d)

Considered digits 1,2,3,4,5,6 and 7. Using
these digits numbers of five digits are
formed. Then probability of these such
five digit numbers that have odd digits at
their both ends is

(a) > (b) 2

OF (d) None of the options

[15]

87. AB T% JtateR e ¢ et B muRr faeg

88.

89.

90.

aur A o 3| v afFa gar § & 3mur
W fPyd v fAfRad fieg C & ofid A &1
3eeTasT FI0T 60° 3| a8 =afda @1 BC &
e FaFH ¥ g g D aF 37 YR
ST § FICD =7m & faeg A T owraer
FIOT 450 §| aF TAFH AT FAE Y

73
2B
(b)i(\/_ +1)m

(C)i(x/_—)m

73( 1

()_(«/_ J

Al il B W 10 Wgfbel TR B o U Aigfet
D ufey # 9 B off argfore § TR T2 89 @
TITRIdaT T BIIT?
()105

© 5

(@)

(b) 5
@ {2}

ereg MISSISSIPPI & 3t #Y gof: Tifa
& fFae eg FAC o1 FH §, oA FE
&' S eI 7 {2

(@ 8.°Cc,. 'C,

(b) 6.7. °C,

(c) 6.8. 'C,

(d) 6.°C, °C,

3® 1, 2,3, 4, 5,6 AR 7 AN 37 3BT FT ST
A g U Sl B N 9 o & O 39 o
It B Wi Tl $ T RRE W v ofe e
B IRIedT T grfi?

OF (b) 2

©3 (d) 5 < 3¢ 7



Rough Work
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